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Use the Venn diagram to answer the questions below.
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* | can use the Fundamental

Counting Principle to determine
the number of outcomes.

* | can create tree diagrams to
represent outcomes for a series

of events.

What shall | wear?

32

Jennifer has 3 skirts and 2 tops.
How many different outfits could she wear?
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Make an organized list

Skirt Top
Red Pink
Red Brown
Blue P
s & i
Green 4
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Make a tree diagram
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There are 12 outfit choices.
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Calculating the total number of outcomes Find the total number of outcomes
Flip a coin and roll a dice g
Event 1 Event 2 # Outcomes

e - a =12
2 skirts .| 3tops 6

3 skirts .| 4 tops 12
Spin the spinner, roll a dice
3 breads .| 5fillings 215
12 flavors { 6 toppings ? 72 ; ¢ - _
Roll two six-sided dice g g
L =

Y
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If one event occurs in m ways an another event occurs in
I Sides I I Plates I _ n ways, then the number of ways that both events occur is
Onion Soup Steak tips Ice Cream m’n
Greek salad Chicken Pie Canolis Example: CARCDEFR)
French Fries L How many 4 letter code words are possible using just the first 6 letters of the alphabét?
asagne
on £ L& = (996
’ code
o4
Cheeseburger How many code words are possible if no letter can be repeated? werds
Burritos N 26 6 5 4. 2 = 3¢o
. — . = —_— - - wdl
> > wordS
You must choose 1 side, 1 plate and 1 dessert
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A multiple choice test with 10 questions and each question has
options A-D, how many different ways can the test be answered?
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How many of these ways actually has all th€ correct answers?
tand" maltiply [
Y or " 4dd
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4 students in 4 chairs example

4 -3 -2t

n Factorial: The number of ways in which one can = 9\‘1‘
agng?distinct objects such that every object is

used (n! is found by multiplying all of the numbers

starting with n and going down to 1). f L} I

How many ways can 6 different books be positioned on a shelf?

€54 2 2 -1
C' = 720

How many ways can the letters HIJKLMN be arranged?

‘71 = Bo44O
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1. Use a Venn Diagram and count

2. Draw a tree diagram and count.

3. Fundamental Counting Principle

4. Factorial

5. Make an organized list and count (dice
chart).

Sec. 1.2 #1-16, 19-24
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* | can use the Fundamental 2)
') 10
Counting Principle to determine _l_

the number of outcomes.

. o-9
* | can create tree diagrams to
represent outcomes for a series

of events.
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Teacher Notes SMAKT.

Lesson Objectives & Teacher Notes

Lesson Title

Organized Lists and Tree Diagrams.

Subject

Mathematics Grade 6 Strand | Data Analysis & Probability

Objective

The objective of this lesson is construct sample spaces using organized lists and tree
diagrams and to use the fundamental counting principle to determine the total number of
outcomes.
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Title Page.

Page 2

“How many different outfits can Jennifer choose from?” “How could you determine the
answer?” Discuss the various strategies you could use. Suggestions might include writing a
list, using a tree diagram or drawing a picture. The pictures can be dragged if needed.
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Make an organized list. If you choose the red skirt, what tops could you wear? (Pink or
Brown.) If you choose the blue skirt, what tops could you wear? (Pink or Brown). What
other options are there? (Green skirt with Pink or Brown top.) The colors can be dragged to
complete the table. “How many choices or outcomes are there?”(6). The list of all the
possible outcomes is called the sample space.
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Another way to find the total number of choices or outcomes is to use a tree diagram.
Complete the tree diagram by either using the Pen Tool or dragging the cloned branches
into place. Drag answer from the right. The tree diagram also shows there are a total of 6
choices or outcomes.
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“Jennifer asked her mom to purchase her a yellow and a black top for school, how many
different choices of outfit does she have now?” Complete the tree diagram and determine
the total number of choices.
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Solution to Page 6.
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Ask students to study the first two rows of the table. “What do you notice about the total
number of outcomes and how they relate to the number skirt choices and the number of
choices of top?” (Multiply). The third way to find the total nhumber of outcomes is to use
multiplication. This is called the fundamental counting principle. This method only tells
you the total number of outcomes - it doesn’t give you a list of what the outcomes are.
Refer to the third row of the table. “You are making a sandwich there are 3 choices of
bread and 5 choices of filling. How many different sandwiches can be made with 1 type of
bread and 1 filling?” (5 x 3). Refer to the fourth row of the table. “How many different ice-
cream sundaes can be made with 1 flavor of ice-cream and 1 topping?” (12 x 6 = 72). Click
to reveal the answers.
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Use the counting principle to determine the total number of outcomes for each of the
experiments. Drag answers from right.
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The counting principle also works for more than 2 events. Determine the total number of
outcomes if you have to choose 1 side, 1 plate and 1 dessert. Drag answers from right.
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